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Bk

Bk

DIP ¢ 75
DP=1.2m

HUE 395

DIP ¢ 100
DP=1.2m

HUE 395

e

SR I T

t=bcm

PRI T
0.20BH

t=10cmLA T

BB T

0.20BH

MR T (KB 1)

0.20BH

MRT GEAT)

0.20BH

AT

A+

AT

AS

TE AT

THAEGLARA

t=19cm

AR

t=15cm

8 T (HH)

FHEBRIET 23

t=5cm PK3




IERAERTER

% = €T E ;F 1 AN 3
=2 F & F N T HiE s & &t
@ il K HiiE 394U DIP ¢ 75 1.20  1209.00 209.00
@ il K HiiE 394U DIP ¢ 100 1.20  66.80 66.80




+TEHEE
HE 397
Bic K &

DIP ¢ 75mm DP=1.2m

R R DIP ¢ 75 MRS 124 m
SR 0.05 m BeEE 090 m R+
BIFO 0.075 m B 019 m @B
AR 0.093 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 209.00 209.00
SRR T
t=5cm 209.00 2 + = 418.0
EfiE R EUE T
As t=10cmPL 209.00 0.60 = 125.4
FE AR T
0.60 1.24 - 0.089 2
7 = 4 ) X 209.00 = 154.2
WERT (B4E+)
0.60 0.90 - 0.093 2
X
7 = 4 ) X 209.00 = 111.4
Ay T4 +) Skt
154.2 111.4 + 0.9 = 30.4
Ly T.(AS)
125.4 0.05 = 6.3
T E A T
FAYIARA t=19cm 209.00 0.60 = 125.4
RC-40
LT
FARFRE t=15cm 209.00 0.60 = 125.4
RM-40
F=ET
HABRET 270 t=5cm 209.00 0.60 = 125.4

PK—3




+TEHEE
HE 397
Bic K &

DIP ¢ 100mm DP=1.2m

R R DIP ¢ 100 MRS 127 m
HEWE 0.05 m BeEE 093 m AL
IO 0.100 m Bz 019 m  TRERE
AR 0.118 m BAE 015 m  FEEE
FHE S RHIE 065 m AS 0.05 m
PRHI R 66.80 66.80
EEE IR T
t=5cm 66.80 X 1 + = 66.8
SR T
As t=10cmPL 66.80 X 0.65 = 43.4
P Ak A T
0.65 X 1.27 - 0.114 2
X 7 = 4 ) X 66.80 = 54.5
WERT (B4E+)
0.65 X 0.93 - 0.118 2
X
X 7 — 4 ) X 66.80 = 39.7
Ay T4 +) A+
54.5 - 397 =+ 0.9 = 10.4
Ly T.(AS)
43.4 X 0.05 = 2.2
T E A T
FAEPARA t=19cm 66.80 X 0.65 = 43.4
RC-40
LT
HARMMA t=15cm 66.80 X 0.65 = 43.4
RM-40
F=ET
TR R EE 7 23 t=5cm 66.80 X 0.65 = 43.4

PK—3







VI EITE S =

GX¥ ¢ 75+-100mm

woE L B 1% & | B 7
E A B4 T ¢ 75 206.4 m
H A X T ¢ 100 65.9 m
(73 7 - S I T 675 13 M
BBk F W W T ¢ 100 5 i
s & T EE ¢75 50 N
% = T EE ¢ 100 15 M
% = €T HIPE ¢ 75 11 H
% = €T RIEE ¢ 100 4 M
i & T GU>7 $175 19 I
s & T GU>7 ¢ 100 5 u
% = T PU>Z ¢ 75 0 M
s & T PULZ ¢ 100 0 u
it 9 » & B L NT) ¢ 75 7 5
it 9 » & B L A71 ¢ 100 2 5
A ERE L A, 15 9 & T
WOk B OB OB L N7) HnO 2 & T
oK o & OB L N7) HnO 0 & T
ZZ2EZ VA S S ¢ 75 4 M
Ly vy — MRy ) AR E T M35 2 1
AT = Hh vk FE L gk ¢ 75 1 i
AT = Hh vk FE L %k ¢ 100 9 i
v W or 7 — 7 L ¢ 75 244.4 m
v W or 7 — 7 L ¢ 100 88.4 m




VI EITE S =

GX ¢ 75-100mm

w®oOE L B 1% B | H 7
w B or v — b L 270.9 m
BBk F Bl W T 675 3 i
73 7SI G 71 B T ¢ 100 6 N
A =Tk F RS L L Figk ¢ 75 3 H
A =Tk F RS L L %k ¢ 100 1 H
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vires

I R

B
HH i e mi Cr —2TE TR PN g PR e | TR ki | ks y
ki
(o2 N P 3 45° 220 |111/4° | 45° 22° H300 H450 "J?; ‘*"i07o5x "J?gox ‘*"oli’gox "J?; ¢i0705x 754100 | 75400 | 75%200 W wro | 500%690 | 500%690
GX ¢ 75 DP=1.2m 43 9 52 2 1 3 1 1 1 1 1 1 1 1 2
GX ¢ 100 DP=1.2m 14 3 17 0 1 0 1 1 1 1 1 1
ks 57 12 69 2 1 3 1 1 0 1 1 0 0 1 1 0 2 2 2 2 0 3
: et o . AL | Rk | Rk |
fz il o TN — AL HEGH AL gl ; A7 | s g - ) P
e RS 54F | curs | Puy - goy | BBV Ll )
(=g ZHEL iz Bps DIPA VPSI VC VP ¢ 75 \XP(‘;’;; DIP ¢ 150 7
GX¢75 DP=1.2m 2 4 3 7 11 11 19 1
178 270.9
GX 6100 DP=1.2m 1 2 0 2 4 2 5 1 4 8
it 3 6 3 9 15 13 24 0 2 4 8
L 118 AT o | s | Gy | oy 77 |- wr | amr | | ORI et | e | mir
| amoas | o e T wvaEl e wg | vpers | YPem | #EL |7 7 L
.18 i : o15 | VPoIs | MmL ik
GX ¢ 75 DP=1.2m 206.389 13 50 11 19 7 7 1 2 1 1 244.4 3 3
270.9
GX ¢ 100 DP=1.2m 65.898 5 15 4 5 2 2 1 2 1 9 88.4 6 1
i 272.3 18 65 15 24 0 9 9 2 0 4 2 10 332.8 270.9 9 0 4




MRS

GXJ¥ ¢ 75mm i Hl T R 208.889
DP=1.2m AR R 206.389
# ¥t Bl & MEHER B = HE 53
IR & GX# 4.000 43 172.000
H 4] (=4 GX% 1.000 1 1.000
H ] & GX%& 3.220 1 3.220
H 4] (=4 GX% 1.700 1 1.700
H ] & GX%& 3.400 1 3.400
H 4] (=4 GX% 3.600 1 3.600
H ] & GX%& 3.770 1 3.770
H 4] (=4 GX% 2.100 1 2.100
Z 15 & GX# 1.000 1 1.000
Z ) it GX* 1.080 1 1.080
Z 15 & GX# 2.000 1 2.000
Z ) it GX* 1.000 1 1.000
Z 15 & GX# 2.000 1 2.000
Z ) et GX* 2.620 1 2.620
Z 15 & GX# 1.000 1 1.000
i et 45° 0.400 2 0.800
i & 22° 0.360 1 0.360
i et 11° 0.340 3 1.020
] % i & 22° 0.100 1 0.100
Z T " ¢ 75X 450H 1.000 1 1.000
- % T T ¥ dT5X ¢ 75 0.440 1 0.440
F & T 5 & dT5X ¢ 75 0.440 1 0.440
A VA ¢ 75 X 400L 1
25 L % B f | ©75X200H {

L ox—




MRS

GXJ¥ ¢ 75mm i Hl T R 208.889
DP=1.2m AR R 206.389
# ¥t Bl & MEHER B = HE 53
AT L A BT T ke O 1
1H X Es g | ¢500X690H 1 (FEate)
Y7 kY — AL R W ¢ 75 0.180 3 0.540
Y 7 b o— v A8 S | EZERL ¢ 75 0.490 4 1.960
it 8 7 & B |H=510~690mm || MR 7
VU-200 7
ik Hi 0.190 2 0.380
L] = 5 =4 0.020 2 0.040
% = gl i RV 11
% = gl TS T4 0.029 11 0.319
£ = gl il GU>” 19
H 2 3] KE 1




MEHRE

GX7 ¢ 100mm 8 M It K 66.878
DP=1.2m AR R 65.898
% B B & FIBHE & ® & SE 53
[EA =4 GX%& 4.000 14 56.000
il ) =% GX# 1.500 1 1.500
Z 7] (=4 GX% 2.820 1 2.820
Z 7] (=4 GX% 2.700 1 2.700
Z 7] (=4 GX% 1.000 1 1.000
Z 7] (=4 GX% 1.000 1 1.000
i = i =4 45° 0.160 1 0.160
i (=4 22° 0.380 0 0.000
i = i =4 22° 0.120 0 0.000
F £ T =5 % $ 100X ¢ 75 0.440 1 0.440
2 A TH - 4 & 75X 400L 1
i & | 00
AFvr AR | 00NN 1
#e T X W ok & B
AT o A AOE ke B 1
1 K % = | ¢500Xx690H 1 (BET)
Bk K It % | ¢500x690H € =X
] = {5) =4 $ 100 0.020 1 0.020
fik i ¢ 100 0.200 1 0.200
Y7 kY o— v AR 8] 5 | AL ¢ 100 0.490 2 0.980
V7 Ry — AR A | WS 6100 0.180 0 0.000
oo g &= JE B |H=510~690mm|| R i 2
3 a il mh RIVE 4
3 a il i 74 0.029 2 0.058
3 a il i GU>” 5
fik i ¢ 100 KJE 4
FCD [l i #& 1k #7 i ¢ 100 KJE 8
H i e DIPH ¢ 100 KJE 1




o % A GXJ ¢ 75mm L=4.0m/A
H )4 CHVE ZO)E CEVE (M) PR i

1 1.000 1.000 2.000 0.000 2

2 3.220 0.780 1

3 1.700 1.000 1.300 2

4 3.400 0.600 1

5 3.600 0.400 1

6 3.770 0.230 1

7 1.080 2.000 0.920 2

8 2.620 0.380 1

9 2.100 1.000 0.900 2

10

11

7 13
B GXJE ¢ 100mm L=4.0m/7<
H )4 CEVE ZO)E EVE (M) PR i

1 1.500 1.000 1.000 2

2 2.820 1.170 1

3 1.000 2.700 0.300 2

4

5

6

7

8

9

10

) 5




B —MNEHFE

=1 £ ¢ 75mm ¢ 100mm z
EATRIE R 206.389 65.898
TH K 5 2 1 1

0.664 0.664
MmoR E| 205.725| 65.234| 270.959 |
% G | 205.7 | 65.2 | 270.9 |
HWBRFRT —THIHE
(=4 7 ¢ 75mm ¢ 100mm z
JEL w 43 14
2] " 9 3
Mok & 244.4 88.4 332.8
1R H 72 4.7 5.2
% G | 12.22 4.42 17]

%:/20m
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T LB X
@® ® ® @ ® ® ®
GRREARR | EREAR 537K LS ES GRE R | ISR KA R | IR A K |
A e
PP ¢ 50 PP ¢ 50 DIP ¢ 100 PP ¢ 50 PP ¢ 50 HIVP ¢ 20~50 | HIVP ¢ 20~50 i
DP=1.2m
W600 W300 W600 W300 W300 W300
BRI T | t=15cmBL T 419.0 22.0 15.0 178.0 0.0 634.0 630
AR T
0.20BH t=15cmPA 148.5 6.6 4.5 148.5 6.6 26.7 26.7 368.1 368
A ) T 0.20BH 22.3 1.0 3.4 20.9 0.9 4.0 4.0 56.5 57
SRR T (S 1) 0.20BH 2.0 2.0 2
ST (1) 0.20BH 0.0 0
HETGE/ERr)|  0.20BH 20.7 0.9 4.0 25.6 26
By T 4+ 0.2 0.0 3.4 20.9 0.9 -0.4 4.0 29.0 29
P ALY T AS 7.4 0.3 0.2 7.4 0.3 1.3 1.3 18.2 18
FHEBLARA
FIE AT t=19cm 4.5 4.5 5
PR
- e T t=15cm 4.5 148.5 6.6 26.7 186.3 186
FAEBRIET 22
HKJE T (#38) | t=5cm PK3 148.5 6.6 4.5 148.5 6.6 26.7 26.7 368.1 368




IERAERTER

. i & -
il s no nee | bR £oE G
O G HE 39% ppesoweoo)  0.14  175+64+8.5 247.50
@ EREARE EOE 39 ppesowson)  0.14 22 22.00
@ | AERGK HiE 397 ¢ 75100 0.90  3f#fTX1.5m 4.50
@ (ERERE HiE 397 pPgsowe00)  0.14  175+64+8.5 247.50
® RERERE HE 398 PPesow300)  0.14 22 22.00
® pimekmma HOE 397 wveewo~somson  0.14 89 89.00
@  piaeksms O HIE 397 uveewo~somson  0.14 89 89.00




+TEHEE
HE 397
IREREATRR W600

PP ¢ 50mm DP=0.14m

R R PP ¢ 50 MRS 0.150 m
SRR 005 m B E  0.150 m  HAERH
BIFO 0.050 m R m  FERE
AR 0.060 m R m ERER
FHE S RHIE 060 m AS 0.05 m
PRHI R 247.50 247.50 m
SRR T
t=5cm 9.00 2 + 401.00 X 1 = 419.0 m
EfiE R EUE T
As t=10cmLL T 247.50 0.60 = 148.5 m
R ) T ‘
247.50 0.60 X 0.150 = 22.3 m®
MR T (F&AEREA)
0.60 0.150 - 0.060 2
7 4 X 2.2 )X 24750 = 20.7 m®
7% Ay TR AAAT) RERAT ‘
22.30 20.70  + 0.9 = 0.7 m®
(W= )
7% 1005y T(AS) ‘
148.50 0.05 = 7.4 m®
FET
HABRET 27 t=5cm 247.50 0.60 = 148.5 m

PK—3




+TEHEE
HE 397
REREATRR W300

PP ¢ 50mm DP=0.14m

R R PP ¢ 50 MRS 0.150 m
SRR 005 m B E  0.150 m  HAERH
BIFO 0.050 m R m  FERE
AR 0.060 m R m ERER
FHE S RHIE 030 m AS 0.05 m
PRHI R 22.00 22.00 m
SRR T
t=5cm 0.00 2 + 22.00 X 1 = 22.0 m
EfiE R EUE T
As t=10cmLL T 22.00 0.30 = 6.6 m
R ) T ‘
22.00 0.30 X 0.150 = 1.0 m’
HET (RAENA)
0.30 0.150 - 0.060 2
7 4 X 1.0 )X 22.00 = 0.9 m®
7% Ay TR AAAT) RERAT ‘
1.00 0.90 + 0.9 = 0.0 m®
(W= )
7153 T(AS) ‘
6.60 0.05 = 0.3 m®
FET
HABRET 27 t=5cm 22.00 0.30 = 6.6 m

PK—3




+TEHEE
HE 397
RSy 7K

¢ 75-100mm DP=1.2m

R R ¢ 100 MRS 0.850 m
SRR 005 m BeEEE 0510 m ook B+
BIFO 0.100 m B 015 m  FERmE
AR 0.118 m BAE 019 m  FEERE
FHE S RS 1.00 m AS 0.05 m
PRHI R 4.50 4.50
SRR T
t=5cm 4.50 2 + 1.0 X 6 = 15.0
EfiE R EUE T
As t=15cmPL T 4.50 1.00 = 4.5
FE AR T
1.00 0.850
X 4.00 = 3.4
WERT (hiktgRE 1)
1.00 0.510
X 4.00 = 2.0
Ay T4 +) Skt
3.40 0.00 =+ 0.9 = 3.4
¥ AL T.(AS)
4.50 0.05 = 0.2
T E A T
FAYIARA t=19cm 4.50 1.00 = 4.5
RC-40
LT
HARFERA t=15cm 4.50 1.00 = 4.5
RM-40
F=ET
HABRET 270 t=5cm 4.50 1.00 = 4.5

PK—3




+TEHEE
HE 397
IEREfE W600

PP ¢ 50mm DP=0.14m

R R PP ¢ 50 MRS 0.150 m
SR 0.05 m FEAR R m
BIFO 0.050 m R m  FERE
AR 0.060 m BAE 015 m  FEEE
FHE S RHIE 060 m AS 0.05 m
PRHI R 247.50 247.50 m
SRR T
t=5cm X + X = 0.0 m
EfiE R EUE T
As t=10cmLL T 247.50 X 0.60 = 148.5 m
P AR HI T 0.60 X 0.150 - 0.060 2
7 ~ 4 X 2.0 )X 24750 = 20.9 m’
HET (RAENA)
0.60 X 0.000
) X = 0.0 m®
7% Ay TR AAAT) RERAT ‘
20.90 - 0.00 = 0.9 = 20.9 m®
55 T.(AS)
148.50 X  0.05 = 7.4 m®
LT
FARFIRA t=15cm 247.50 X 0.60 = 148.5 m
RM-40
FET
HABRET 270 t=5cm 247.50 X 0.60 = 148.5 m

PK—3




+TEHEE
HE 397
IERERE W300

PP ¢ 50mm DP=0.14m

R R PP ¢ 50 MRS 0.150 m
HEWE 0.05 m FE AR m
BIFO 0.050 m R m  FERE
AR 0.060 m BAE 015 m  FEEE
FHE S RHIE 030 m AS 0.05 m
PRHI R 22.00 22.00
SRR T
t=5cm + X = 0.0
EfiE R EUE T
As t=10cmPL 22.00 0.30 = 6.6
P AR HI T 0.30 0.150 - 0.060 2
7 4 X 1.0 ) X 22.00 = 0.9
R T (FAENA)
0.30 0.000
) X = 0.0
¥+ TRARA) R
0.90 0.00 =+ 0.9 = 0.9
Ly T.(AS)
6.60 0.05 = 0.3
LT
HAERREE t=15cm 22.00 0.30 = 6.6
RM-40
F=ET
HABRET 270 t=5cm 22.00 0.30 = 6.6

PK—3




T TEEE

HE 397
TG e VNG 75 9
HIVP ¢ 20~50mm
®
RfE S HIVP ¢ 20~50 Febkdmy 0.150 m
SRR 005 m B RE  0.000 m pokik B+
BIFO 0.050 m Bz 0.00 m @B
AR 0.060 m Bz 015 m  FERE
FHE S RHIE 030 m AS 0.05 m
B R 0.000 m 4+
PRHI R 89.00 89.00 m
EfERR BT T
t=5cm 89.00 X 2 = 178.0 m
S IR U T
As t=10cmLL T 89.00 X 0.30 X = 26.7 m
FE AR T
0.30 X 0.150 - 2
X r ~ 4) X 89.00 = 4.0 m’
HERET (ChifktkR+)
0.30 X 0.000 - 2
X T ~ 4) X 89.00 = 0.0 m®
HERET (AL
0.30 X 0.150 )
X 89.00 = 4.0 m’
S TRAT) R+ ‘
4.00 - 400 = 0.9 = 0.4 m°
P ALY T(AS) |
26.70 X 0.05 = 1.3 m’
FET
AR 2 t=5cm 89.00 X 0.30 = 26.7 m

PK—3




T TEEE

HE 397
TG e SVINGER &S
HIVP ¢ 20~50mm
@
RfE S HIVP ¢ 20~50 Febkdmy 0.150 m
SRR 005 m B RE  0.000 m pokik B+
BIFO 0.050 m Bz 0.00 m @B
AR 0.060 m Bz 015 m  FERE
FHE S RHIE 030 m AS 0.05 m
B R 0.000 m 4+
PRHI R 89.00 89.00 m
SRR T
t=5cm X = 0.0 m
EfiE R EUE T
As t=10cmLL T 89.00 X 0.30 X = 26.7 m
FE AR T
0.30 X 0.150 - 2
X r ~ 4 ) X 89.00 = 4.0 m’
HERET (ChifktkR+)
0.30 X 0.000 - 2
X r ~ 4 ) X 89.00 = 0.0 m®
HERET (AL
X )
X 89.00 = 0.0 m®
S TRAT) R+ ‘
4.00 - 0.00 = 0.9 = 4.0 m’
P ALY T(AS) |
26.70 X 0.05 = 1.3 m’
LT
HAKGEEG t=15cm 89.00 X 0.30 = 26.7 m
RM-40
FET
HABRET 270 t=5cm 89.00 X 0.30 = 26.7 m

PK—3
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Rl R B

G A H # ¥ o® | B AL
Bz FLo&HAa3T ¢ 50 517.0 m
b = V&M% T $ 20 46.0 m
b = V&% T ¢ 25 19.0 m
b = V&M% T ¢ 30 21.0 m
b = V&% T ¢ 40 1.0 m
b = V&% T ¢ 50 2.0 m
R T F Lo &fkF L $20 36 H
AU T F Lo &fkF L $25 18 M
AU T F Lo EfkF L ¢ 30 18 H
AU T F Lo EfkF L ¢ 40 3 H
BV FLo&#HF LT ¢ 50 198 i
LRk & H5& L ¢ 20 54 H
Lk » & E& L $ 25 27 H
Lk A #HE H& L ¢ 30 27 H
Lk & E& L ¢ 40 3 H
Lk A G5 L ¢ 50 64 H
Lk & G5 L ¢ 65 5 H
PRV Gy oK R A L DIP ¢ 75X ¢ 50 2 AT
PRV Gy oK R A L DIP ¢ 100X ¢ 50 4 AT
PRV Gy oK R A L VP ¢ 100X ¢ 50 0 AT
- 7 B fF T ¢ 50 6 (S0
S I = 7 = R ¢ 50 0 (S0
S I = 7 = R ¢ 20 19 (S0
S I = 7 = R $13 15 (S0
KRB AN VT R E T VP ¢ 100 0 H
AR ERE L HY 0 (S0
BE G% & Mk F He b L T ¥5k DIP ¢ 100 0 o
BE §% & Mk F He st L T ¥5k DIP ¢ 75 0 o
BE & & 9 W L DIP ¢ 100 0 o
BE & & 9 W L VP ¢ 100 0 o
A=y ik F L WiE ¢ 100 0 =
A= ok FE L ¥k ¢ 75 0 I
A=y ik F L gk ¢ 100 0 =




HEFFRIFHE &

BT VTSN A AT E T B~ AAT BT 50— o7V 7R ij;f_/z =o)L [WEKRETE T = R AR LTV s b ki S
¢ 13mm 0 0 0 0 0 0 0 0 0
¢ 20mm 0 0 0 0 18 18 0 0 18
¢ 25mm 0 0 0 0 9 0 0 9
¢ 30mm 0 0 0 0 9 0 0 9
¢ 40mm 0 0 0 0 1 0 0 1
¢ 50mm 8 52 6 13 12 2 5 6 2 0
HYZF L AFRET T *2 *]1 *]1 *2 *2
NCABEA L *]1 *2 ¢ 65(*1) *1 *1 *1
%9715
HAL: 1 DIP ¢ 75% ¢ 50 2 & A
Ay=FL T AUIALIEA T SyKIETAL T I;I;’:,b-l:)(-):k-d;;() ---------- & A
¢ 13mm 0 0 VP 6 100% 650 T
¢ 20mm 36 54 a7 W] ¢ 50 6 & T
¢ 25mm 18 27 RS L] ¢ 50 T
¢ 30mm 18 27 ¢ 25 5 & AT
¢ 40mm 3 3 ¢ 20 19 & AT
¢ 50mm 198 64 ¢ 13 15 & AT
¢ 65mm 5




R



REBH BRI R &

B P ok

RYxzFL 4% ¢ 13 00 m

¢ 20 0.0 m

¢ 25 00 m

¢ 30 0.0 m

¢ 40 00 m

¢ 50 5170 m

HIVP ¢ 13 0 K

$20 12 K

625 5 K

¢ 30 6 K

¢ 40 1 K

¢ 50 1 K

H TV Tk 613 0 &
620 0 &

625 0 f&

¢ 30 0 {A

¢ 40 0 f&

¢ 50 8

FATH T H— ¢ 13 0 f&
20 0o A

625 0 f&

¢ 30 0 {A

¢ 40 0 f&

¢ 50 52 &

ART BT H— ¢ 13 0 f&
20 0o A

625 0 f&

¢ 30 0 {A

¢ 40 0 f&

¢ 50 6

T TV T TR $13 0 f#
20 0o A

625 0 f&

¢ 30 0 {A

¢ 40 0 f&

¢ 50 13 {&

KRthy 7V 7F—=x 650X ¢ 13 0 f#
$50% 620 18 M

650X ¢ 25 9 &

¢ 50X ¢ 30 9 A

50X ¢ 40 1 &

¢ 50X ¢ 50 12 {#

A= L7 613 0 &
20 18 M

625 9 &

¢ 30 9 A




REBH BRI R &

A

i

i

B
¢ 40 1 &
¢ 50 21 &

=y 613 0 ﬂﬁl |
$20 18 &
625 9 &
¢ 30 9 A
¢ 40 1 &
¢ 50 2 A
BB TR ¢ 65X50 5 @
kAT X7 H— ¢ 65 5 {&
PSIVT Ry 7 A (§REL ¢ 150 63 f#
VP ¢ 100X ¢ 50 0 i |
WAWIZERAVIR S DIP ¢ 75X ¢ 50 2 A
(fad=>E7 1) DIP ¢ 100 X ¢ 50 4 A
HI /LR 13 0 M
$20 54 &
625 27 A
¢ 30 271 A
¢ 40 3 &
¢ 50 6
HIY 7k $13 0 fE
$20 0 {A
625 0 f&
¢ 30 0 {A
¢ 40 0 f&
¢ 50 0 fA
HIF> 7 $13 0 f& |
¢ 20 18 1
¢ 25 9 A
¢ 30 9 A
¢ 40 1
¢ 50 2 A
HI SV T2y k ¢ 13 0 fE |
¢ 20 18
¢ 25 9 A
¢ 30 9 A
¢ 40 1 A
¢ 50 2 A
FCDE 2 1iE VP ¢ 100 0 {#
FCDE#21E DIPH ¢ 100 0 {#
FCDE#21E DIPH ¢ 75 0 {#

NKKEF YT g Hd ¢ 50 0 f&

AWk ST VPH ¢ 100 0

FCDALUI AR JEe R 0 i




R —5

4y P I EEy e i o | w— wm R kA [a7wasn] N R S| HUsL 7 | HI .
) 24 24 N - PRtk T i v o 7 ERNEYN
* Al P e ANP | Dol | 7ot |7s—| s | BRETA | Sy | 2270 [exgm | 7o 75— | gmgiso | VOB | HIEAR |00 0 | gy | HIV770 FRAAZIAR
M| ff %
X E 4 " (e n% | m O | omo | o | fEs | n | | ng | i | nge | s | s g | s | e | ek | nee | s % % % % DR | g | R | s | R | R | e | | A ek | g
1 30 | HI| 13 | BE&% 30 3.0 30 | 3.0 50%30 | 1 | 30| 1 |30 |1 1 30| 3 |30 |1 [3]1
2 20 | HI| 20 | BE&% 20 3.0 20 | 3.0 5020 | 1 | 20| 1 |2 |1 1 20| 3 | 201 [2]1
3 20 | HI| 20 | BE&% 20 3.0 20 | 3.0 5020 | 1 | 20| 1 |2 |1 1 20| 3 | 201 [2]1
4 30 | HI| 20 | BE&% 30 3.0 30 | 3.0 50%30 | 1 | 30| 1 |30 |1 1 303 |30 |1 [3]1
5 25 | HI| 13 | BE&% 25 3.0 25 | 3.0 5025 | 1 | 25| 1 |25 |1 1 2% |3 |25 |1 |25]1
6 20 | HI| 20 | BE&% 20 3.0 20 | 3.0 5020 | 1 | 20| 1 |2 |1 1 20| 3 | 201 [2]1
7 20 | HI| 20 | BE&% 20 3.0 20 | 3.0 5020 | 1 | 20| 1 |2 |1 1 20| 3 | 201 [2]1
8 20 | HI| 13 | BE&% 20 3.0 20 | 3.0 5020 | 1 | 20| 1 |2 |1 1 20| 3 | 201 [2]1
9 25 | HI| 25 | BE&% 25 3.0 25 | 3.0 5025 | 1 | 25| 1 |25 |1 1 2% |3 |25 |1 |25]1
10 25 | HI| 13 | BE&% 25 3.0 25 | 3.0 5025 | 1 | 25| 1 |25 |1 1 2% |3 |25 |1 |25]1
11 20 | HI| 13 | BE&% 20 3.0 20 | 3.0 5020 | 1 | 20| 1 |2 |1 1 20| 3 | 201 [2]1
13 30 | HI| 13 | BER% 30 30 30 | 3.0 50%30 | 1 | 30| 1 |30 |1 1 30| 3 |30 |1 [30]1
14 20 | HI| 13 | BER 20 30 20 | 3.0 5020 | 1 | 20| 1 |2 |1 1 20 3 |20 1 |2]1
15 20 | HI| 20 | BE&% 20 30 20 | 3.0 5020 | 1 | 20| 1 |2 |1 1 20 3 |20 1 |2]1
16 20 | HI| 20 | BE&% 20 30 20 | 3.0 5020 | 1 | 20| 1 |2 |1 1 20 3 |20 1 |2]1
17 30 | HI| 20 | BER% 30 30 30 | 3.0 50%30 | 1 | 30| 1 |30 |1 1 30| 3 |30 |1 [30]1
18 20 | HI| 13 | B 20 30 20 | 3.0 5020 | 1 | 20| 1 |2 |1 1 20 3 |20 1 |2]1
19 30 | HI| 13 | BER% 30 30 30 | 3.0 50%30 | 1 | 30| 1 |30 |1 1 30| 3 |30 |1 [30]1
20 20 | HI| 20 | BE& 20 10| 20 1.0 5020 | 1 | 20| 1 |2 |1 1 20 3 |20 1 |2]1
21 20 | HI| 20 | BE% 20 10| 20 1.0 5020 | 1 | 20| 1 |2 |1 1 20 3 |20 1 |2]1
22 25 | HI| 25 | BE# 25 10| 25 1.0 5025 | 1 | 25| 1 | 25| 1 1 25| 3 |25 |1 |25 ] 1
23 30 | HI| 20 | BE&% 30 10| 30 1.0 50%30 | 1 | 30| 1 |30 |1 1 30| 3 |30 |1 [30]1
24 30 | HI| 20 | BER% 30 10| 30 1.0 50%30 | 1 | 30| 1 |30 |1 1 30| 3 |30 |1 [30]1
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X 1H 44 FR ; i (e i n% | m O | mo | 0| EE | 0| | 0 | | g | s | o g | e | R | k| o | ek % % % % P | Es | P | | DR | R | | R | A ek | s
27 30 | HI| 13 | BE& 30 Lo| 30 1.0 50 % 30 1 30 | 1 30 | 1 1 30 | 3 30 | 1 30 | 1
28 40 | HI | 13 | BEsx 40 1.0| 40 1.0 50X 40 1 40 | 1 40 | 1 1 40 | 3 40 | 1 40 | 1
30 50 | HI | 13 | BE#% 50 10| 50 1.0 50X 50 1 50 | 1 50 | 1 1 50 | 3 50 | 1 50 | 1
31 25 | HI| 25 | BE#% 25 10| 25 1.0 50X 25 1 25 | 1 25 | 1 1 25 | 3 25 | 1 25 | 1
32 25 | HI| 13 | BE#% 25 1.0 25 1.0 50X 25 1 25 | 1 25 | 1 1 25 | 3 25 | 1 25 | 1
33 25 | HI | 13 | BE#% 25 30| 25 3.0 50X 25 1 25 | 1 25 | 1 1 25 | 3 25 | 1 25 | 1
34 20 | HI| 20 | BER% 20 3.0[ 20 3.0 50X 20 1 20 | 1 20 | 1 1 20 | 3 20 | 1 20 | 1
35 30 | HI| 20 | BER% 30 3.0( 30 3.0 50X 30 1 30 | 1 30 | 1 1 30 | 3 30 | 1 30 | 1
36 20 | HI| 20 | BE#% 20 3.0[ 20 3.0 50X 20 1 20 | 1 20 | 1 1 20 | 3 20 | 1 20 | 1
37 20 | HI| 20 | BE#% 20 3.0[ 20 3.0 50X 20 1 20 | 1 20 | 1 1 20 | 3 20 | 1 20 | 1
38 20 | HI| 20 | BER% 20 Lo 20 1.0 50X 20 1 20 | 1 20 | 1 1 20 | 3 20 | 1 20 | 1
39 25 | HI| 25 | BE#% 25 1.0 25 1.0 50X 25 1 25 | 1 25 | 1 1 25 | 3 25 | 1 25 | 1
40 20 | HI| 20 | BER% 20 Lo 20 1.0 50X 20 1 20 | 1 20 | 1 1 20 | 3 20 | 1 20 | 1
41 50 | HI | 13 | BE#% 50 10| 50 1.0 50X 50 1 50 | 1 50 | 1 1 50 | 3 50 | 1 50 | 1
42 20 | HI| 20 | BER% 20 3.0[ 20 3.0 50X 20 1 20 | 1 20 | 1 1 20 | 3 20 | 1 20 | 1
43 25 | HI| 25 | BE#% 25 30| 25 3.0 50X 25 1 25 | 1 25 | 1 1 25 | 3 25 | 1 25 | 1
/INEF 89.0 89.0 39 39 39 39 117 39 39 0 [DIPT5X50| 2
¢ 50X 25% 50 [248.0| PP [4950 | 50 | 8 |50 | 13 |50 | 6 | 50 | 52 50%50 | 10 | 50 | 19 | 50 | O 5 5 24 DIP100X50[ 4
¢ 50X 15% 50 | 220| PP [22.0 skteres| 0
- THE R (H3E - W600) 248.0 13 0.0 13 00 |13 1310 |13 1310 50x13 [ 0 |13 ] 0 |13 | 0 3o [13|o |10 |13]o0
THE R (A3 - W300) 22.0 20 [46.0 | 20 [46.0 50%20 | 18 | 20 | 18 | 20 | 18 20 [ 54 |20 | 18 | 20 | 18 |20 | 0
R B 390k 25 [19.0 | 25 [19.0| 25 25 | 0 | 25 25 | 0 50x25 | 9 |25 | 9 |25 | 9 25 [ 27 |25 | 9 |25 | 9 |25 |0
KA VRS T 50 | OfiFT | 30 [21.0] 30 210 30 30 | 0 |30 30 | 0 50x30 [ 9 |30 | 9 |30 |9 30 [ 27 [ 30 | 9 |3 |9 |30
KA VRS T 25 | SfEFT || 40 1.0 40 1.0 | 40 40 [ 0 | 40 120 | 0 50X 40 1[40 | 1 |40 | 1 40 | 3 |40 | 1 |40 | 1 |40 | o [vPio0x50| O
FaAK A RS T 20 | 19f%F7 || 50 2.0 50 [20 |5 |8 |50 |13 |5 | 6 |50 |52 50x50 | 12 | 50 | 21 | 50 | 2 50 | 6 |50 | 2 |50 | 2 |50 |0
KK E T L 13 | 15647 i [89.0 B [89.0 | 8 |13 | F 6 3| 52 F 49 | B | 58 | B |39 | EF | 5 B | 5 B Bl | B[ 39 | B |39 | B | o 3 0
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VP ¢ 75mm-* ¢ 100mm

w®oOE L B 1% B | H 7
EE D LT HEAL VP ¢ 75 274.0 m
EE D LT HEAL VP ¢ 100 0.0 m
EE D LT HEAL PP ¢ 50 517.0 m
EE D LT HEAL VP ¢ 20 46.0 m
fEE D LT HEAL VP ¢ 25 19.0 m
EE D LT HEAL VP ¢ 30 21.0 m
EE D LT HEAL VP ¢ 40 1.0 m
EE D LT HEAL VP ¢ 50 2.0 m
% ' 4 W L VP ¢ 20 13 N
% ' 4 W L VP ¢ 25 5 N
e % ' 4 W L VP ¢ 30 6 N
% ' 4 W L VP ¢ 75 80 N
o= ' 4 W L VP ¢ 100 0 =
% ' 4 W L PP ¢ 50 152 N
m = B #E #k #® 4t L=25kmPL T [
WM o5 B o 5 # 4.2 i
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+ T %= & F FR
@
K -
&8k | @D
¢ 20~ ¢ 50
HE 3974
EiZERR DI T t=5cm 200.2 200.2 200
P E v A N K I N I R R
0.20BH t=10cmLLF 60.1 00.1 00
kI 1T 0.20BH 75.1 75.1 80
R L N 4.5 4.5 5
HRET &R+ 0.20BH 15.3 15.3 15
HET (G4 +) 0.20BH 39.0 39.0 39
MERT (GAET) NV} 4.5 4.5 5
AV T B+ 31.8 31.8 32
AV T AS 3.0 3.0 3
BAEULAME |
TR T t=19cm 60.1 60.1 60
CENEY A7 ST N I IR A R E
FE T t=15cm 60.1 60.1 60
BAESNET A2
=BT (FHiHE) t=5cm PK3 60.1 60.1 60
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O oK HH HIVP ¢ 20~ ¢ 50 100.1m(H=1.3m) 100.10
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HEIKE

HIVP ¢ 20~ ¢ 50mm

H=1.30m ANSEH D EL 1fETdH720) 21k (0.5%1.0%0.9=0.45m)
@ F 1k (0.5%1.0%0.3=0.1511)
TR HIVP ¢ 20~ ¢ 50 BehdmlE 125 m
LSRR 0.0 m BER 026 2 m RRBE -
BIEOEE 0.050 m MR 065 m AT
AR BHME 0.060 m B 019 m BB
PREIE 060 m BAx 015 m  FEpm
AS 0.05 m
PEHIAE & 100.10 100.1
SRR O T
t=5cm 100.10 2 + = 200.2
S R U T
As t=10cmPL F 100.10 0.60 = 60.1
RS R I T
100.10 0.60 X 1.25 = 75.1
ANJTHEEI T Z GG 2] & AT
0.45 8 + 0.15 X 6
= 4.5
HEL (KER+)
0.60 0.26 - 0.060 2
7 = 4 ) X 100.10 = 15.3
WERET (F4+)
100.10 0.60 X 0.65 = 39.0
ANABMERET G&41)
4.5
¥y T4 1) ¥+
75.1 39.0 = 0.9 = 31.8
¥ ALy T.(AS)
60.10 0.05 = 3.0
T A T
BEAELARE t=19cm 100.10 0.60 = 60.1
RC-40
LEkET
PRI t=15cm 100.10 0.60 = 60.1
RM-40
FET
PR BRI EET 22 t=6cm 100.10 0.60 = 60.1
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feKEMRE

w B L B & H = L
WEELE = V& A& L ¢ 13 3.0 m
WEELE = V& fi % L ¢ 20 53 m
WEELE = V& A& L ¢ 25 21.5 m
WEELE = V& A& L ¢ 30 29.2 m
WEELE = V& fi % L ¢ 40 3.8 m
WEELE = V& A& L ¢ 50 7.6 m
ROV 4y oK R A GA T DIP ¢ 75X ¢ 20 14 & AT
RV 4 oK R GA T DIP ¢ 75X ¢ 25 6 & AT
RV 4 oK R GA T DIP ¢ 75X ¢ 30 8 & AT
ROV 4 oK R GA T DIP ¢ 75X ¢ 40 1 & T
RV 4 oK R GA T DIP ¢ 75X ¢ 50 1 & AT
RV 4 oK R GA T DIP ¢ 100 X ¢ 20 6 & T
ROV 4 oK R AT DIP ¢ 100X ¢ 25 3 & T
RV 4 oK B GA T DIP ¢ 100 X ¢ 30 1 & AT
ROV 4 oK R GA T DIP ¢ 100 X ¢ 40 0 & T
ROV 4 oK R GA T DIP ¢ 100 X ¢ 50 1 & T
= 7 i it T ¢ 20~ ¢ 50 41 =
= ok & E P T ¢ 20 8 =
= ok & E P T ¢ 25 0 =
ok B OER O L ¢ 30 6 =
= ok & E P T ¢ 40 0 =
=k & W P T ¢ 50 0 =




w® B B F& ¥ & B
= K & B o T ¢ 13 3 E
7= Kk & B o T ¢ 20 3 =
= Kk & B o T ¢ 40 0 =
Bk HF W® & L ¢ 13 14 & I
Bk H W® & L ¢ 20 16 fiE T
Bk HF W® & L ¢ 25 5 & AT
Bk HF W® & L ¢ 40 0 & I
v oW or v [ 100.1 m
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BERk B LIEDFET A—FZ—FT SVET
ey T D R T
27 2 6 6
$13 20 25 30
(Hlﬁ?ﬁi:/ S 300 [T 53.00 2150 | 2920
NAEFIER) 010 050
"""" 380 [ 7e0 |
Hk ORI
e Bk B EAL
H I % L ] R oo 4 r;l/f
Y I u_ 43.0
Y Y T 5 17.0
Y R 6 22
T Y (A 1 3
Y A 2 T 6
R R T S S Pt E I P SR 7
Y 21
Y T
Y
Y O T
Y T
H I - v N AR T Sl R S 7
Y 6
Y T
Y e 2
Y O T
Y T
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MR Hirg e BT
H I % x v 7 AR T Sl R S 7
I R
Y R R
I R
I R
I T R R
HI® &Y 7 v b |- ¢2'0><'¢)'13"" I S 7
""""""" P R R
""""""" Ry A R S
""""""" Py R R
N E e B S 7
I R R S
Y R R
Y R R G
I R R G
I T R R G
O e S5 0.5m/
Y R R
_______________________________________________________ 0.8m/A
¢ 30 9
I R S
TR Ty
& JJ: 7k *3% ---"--------"":b-é(-)"-"-"-"-"-- """"'8 """"" /7
Y R R
S T L PVCHL 00X 500 S00mn TR T 7
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RREB— K

i “ Fovwke | (e | VPR | vy | vrok |mamer | v | Rl | 2250 Ciktt | ol ikt [JHEIE] svie [mn | wieo | sk e N
] EEeS
[RHENZ 20 & AEXFAK | @K [ 0| m A& m [2kz3 m PR | EE| R | | e | e | xR | | nER | A | e | | nBR | IR | R | | R | | B | | nfR | | R | ) | R | e At g [ g | | nee | | neE | ek
1 13 SVET 75%30 1 30 [ 1.0 [ 3010 [ 30 [ 20 [30f 2 |3]2 30%20 | 1 30 | 1 30 | 1 30 | 1
2 20 | A4-%T | 75%x20 1 20| 1.0 [ 20| 20 | 20| 30 [20] 4 |2]8 20 2 | 20| 1 |2 | 1t [20]1]z2]1]2]"1
3 20 | BEBEEEE | 75x20 1 20 | 1.0 20 | 1.0 20 | 1
4 20 SVET 75%30 1 30 | 2.0 30 | 20 [30] 1|30 2 30 | 1 30 [ 1 |aE| 1|1
5 13 BER 75%25 1 25 | 1.0 25 1.0 25 1
6 20 | BEREEEE | 75%20 1 20 | 1.0 20 | 1.0 20 | 1
7 20 | BEBEEEE | 75%x20 1 20 | 1.0 20 | 1.0 20 | 1
8 13| A-p-%T | 75%20 1 20| 10 [ 20| 10 | 20| 20 [20] 2 |2]6 20| 1|2 | 1 |2|1
13 1.0 13 1.0 13 1 13 2 20X13 1 13 2 13 1 13 1
9 25 | BEREEEE | 75%25 1 25 | 1.0 25 | 10 25 | 1
10 13 BERedE 75X 25 1 25 | 1.0 25 1.0 25 1
11 13 | A-p-%T | 75%20 1 20| 10 [ 20| 10 | 20| 20 [20] 2 |2]6 20| 1|2 | 1 |2]|1
13 1.0 13 1.0 13 1 13 2 20X13 1 13 2 13 1 13 1
13 13| BEREESE | 75%30 1 30 | 10 30 | 10 30 | 1
14 13 et 75X 20 1 20 | 1.0 20 1.0 20 1
15 20 | BEREEEE | 75%20 1 20 | 1.0 20 | 1.0 20 | 1
16 20 | BEBEEEE | 75x20 1 20 | 1.0 20 | 1.0 20 | 1
17 20 | BEREEEE | 75%30 1 30 | 2.0 30 | 20 30 | 1
18 13 Rt 75X 20 1 20 | 1.0 20 1.0 20 1
19 13 SVET 75%30 1 30| 10 [ 30| 10 |30 | 20 [3]2]30]:2 30 | 1 30 | 1| set| 1
20 20 | BEBEEEE | 75x20 1 20 | 3.0 20 | 3.0 20 | 1
21 20 | BEREEEE | 75%20 1 20 | 3.0 20 | 3.0 20 | 1
22 25 | BEBHEE: | 7525 1 25 | 3.0 25 | 3.0 2% | 1
23 20 | BEREEEE | 75%30 1 30 | 3.0 30 | 3.0 30 | 1
24 20 SVET 75X 30 1 30 3.0 30 1.0 30 4.0 30 2 30%25 30 1 30 1 | ®aE | 1 1
25 13 | ZikwET | 75%20 1 2030 [ 20|10 | 20| 40 [20] 1|2 |2 20| 1|20 | 1 20 | 1
26 13| Ap-ET | 75%20 1 20 [ 30 [ 20|10 [ 20| 40 [20f 2 |20] 6 20| 1| 20| 1 20 | 1
B o | 13| 10 BBz 20x13| 1 | 13| 2 Bl
27 13 SVET 75X 30 1 30 3.0 30 1.0 30 4.0 30 1 30 2 30 1 30 1 30 1
28 13| BEREESE | 75%40 1 10 | 3.0 10 | 3.0 10 | 1
0.0
30 13| BEREESE | 75%50 1 50 | 3.0 50 | 3.0 50 | 1
31 25 | BEBHEE: | 7525 1 25 | 3.0 25 | 3.0 2% | 1
32 13| BEREESE | 75%25 1 25 | 3.0 25 | 3.0 25 | 1
33 13 BER 100X 25 1 25 | 1.0 25 1.0 25 1
34 20 | BEREEHE | 100%20 1 20 | 1.0 20 | 1.0 20 | 1
35 20 SVET 10030 1 30 | 2.0 30 2.0 30 1 30 2 30 1 30 1| |1 1
36 20 100 %20 1 20| 1.0 [ 20| 20 | 20| 30 [20] 4 |2]S8 20 2 | 20| 1 |20 | 1 [20]1]z2]1]2]"1
37 20 | AH-FET | 100%20 1 20 [ 1.0 [ 2020 [ 20| 30 |20f 4 |2]s 20 2 20| 1 [2 | 1 ]2] 1 [z20]|1]2]:!
38 20 | BEREEHE | 100%20 1 20 | 3.0 20 | 3.0 20 | 1
39 25 BER 100 %25 1 25 | 3.0 25 3.0 25 1
40 20 | ZikwET [ 100%20 1 2030 [ 20| 10 | 20| 40 [20] 2|2 |2 20| 1|2 | 1 |2|1
41 13 BERedE 100 %50 1 50 | 3.0 50 3.0 50 1
42 20 | BEREEHE | 100%20 1 20 | 1.0 20 | 1.0 20 | 1
43 25 et 100 %25 1 25 1.0 25 1.0 25 1
HiveaER (i) A 760 %20 | 14 500L | 2
7?%;]%“‘ "50)0“ 21.1 75X25 6 1300 [ 13]30 | 13 30 B3 |16 [13]o |20x3[3 [13]6 13|00 |13|0 [soLf s |13]3|13]|3 s 2 [ 3 | 13| 0 | Vvs0xvs0 | 0
TR i 100.1 75%30 8 | 20 320 [ 20 [11.0| 20 | 430 | 20|21 | 20 |46 |20 [ 0o [25x13| 0 |20 |6 |20 20 |20 |8 20| 3 |20 3 A | 1 20 | 0
e 27 75X40 1 25 | 170 | 25 [ 0.0 | 25 | 170 [ 25 | 0o | 25| 0 |25 | 0 [30x25| 0 |25 | 0 |25 [ 9 |25 0 25 [0 | 250 ot |1 2 | 0
ZAEHETHR 2 75X50 1 30 | 180 | 30 | 4.0 | 30 | 220 [ 30| 7 |30 |12 |30 |0 [s0x10| 0 |30 |0 |30 |9 30 |0 |3 |0 |3]6s 30 | 0
Ap—E TR 6 100 %20 6 |40 |30 [ 40|00 |40 [ 30 |40 |0 |40 |0 |40 |0 10| 0 |0 |1 0|0 |40 [4]o0 10| 0
SVETH R 6 100X 25 3 |50 |60 [ 50|00 |5 [ 60 |5 |0 |5 |0 |50]o0 50 | 0 | 50| 2 50 | 0 |5 |0 500 50 | 0 | 2
KR T 13 AR 100X 30 1
KR T 20 16HFF 100X 40 0
KR T 25 5{ET 100X 50 1
KR T 10 OffiFT it At | #7600 | & | 180 | @ | 940 | B |31 | @ |61 | #H | 0 ol s | E |z | a | [ @[ s [ a8 | # |6 | |6 [ # |6 [#|a |3 |F]|o0 it 0




7 277\ NI B

3cm 0.078 0.0000
4cm 0.104 0.0000
S5cm 0.130 1319.0 1.7147
bcm 0.152 0.0000
Tcm 0.174 0.0000
10cm 0.240 0.0000
llecm 0.262 0.0000
15cm 0.350 0.0000
20cm 0.460 0.0000
25cm 0.570 0.0000
26cm 0.592 0.0000
30cm 0.680 0.0000
i 1319.0 1.7147

EXe 1.71




